





(An Autonomous Institution) Coimbatore-641035.

UNIT-IV FOURIER SERIES AND FOURIER TRANSFORM

FOURIER SERIES- PROBLEMS ON (0,2L)

$$= \frac{1}{4} \left[ (\ell - x)^{2} \frac{\ell}{n\pi} \frac{\Im n}{\pi} \frac{\Im n}{\pi} \frac{2\pi}{\pi^{2}} \frac{\Im n}{\pi^{2}} \frac{\Im n}{\pi^{2}} \frac{2\pi}{n^{2}} \frac{\Im n}{\pi^{2}} \frac{\Im$$





(An Autonomous Institution) Coimbatore-641035.

UNIT-IV FOURIER SERIES AND FOURIER TRANSFORM FOURIER SERIES- PROBLEMS ON (0,2L)  $a_0 = \frac{1}{P} \int_{-P}^{\infty} f(x) \, dx$  $= \frac{1}{2} \left[ \int_{0}^{0} (2-\pi) \, dx + 0 \right] = \frac{1}{2} \left[ \int_{0}^{0} (2-\pi) \, dx \right]$ = = [ [ (1-x)? ]? = -1 [0-12]  $a_0 = \frac{l_2}{l} a_n = \frac{1}{l} \int_{0}^{2l} \beta(x) \cos \frac{n\pi x}{l} dx$  $= \frac{1}{4} \int \frac{\partial P}{\partial r} \cos \frac{D\pi \pi}{2} d\pi \left\{ \begin{array}{c} \int uv d\pi = uV_1 - u'V_2 + u''V_3 - \cdots \\ u = d - \pi \\ u' = -i \\ u'' = 0 \end{array} \right\} \sqrt{2} = \frac{D\pi \pi}{2} \sqrt{2}$  $= \pm \left[ (2-\chi) \frac{p}{n\pi} S^{\eta} n \frac{p\pi\chi}{2} + i \left( \frac{-1^{\frac{1}{2}}}{n^{\frac{1}{2}} \pi^{\frac{1}{2}}} \cos \frac{p\pi\chi}{2} \right) \right]^{p}$  $= \frac{1}{d^2} \left[ -\frac{l^2}{h^2 \pi^2} \left( -1 \right)^n + \frac{l^2}{n^2 \pi^2} \right]$  $= \frac{1}{n!} \left( \frac{h^{2}}{h^{2}} \pi^{2} \right)^{2} \left[ 1 - (-1)^{n} \right]$   $= \frac{1}{n!} \frac{n^{2}}{n^{2}} \pi^{2} \left[ 1 - (-1)^{n} \right]$   $a_{n} = \frac{1}{n^{2}} \frac{1}{n^{2}} \left[ 1 - (-1)^{n} \right]$   $a_{n} = \frac{1}{n^{2}} \int_{0}^{2} \frac{1}{n^{2}} \left[ 1 - (-1)^{n} \right]$   $b_{n} = \frac{1}{n^{2}} \int_{0}^{2} \frac{1}{n^{2}} \left[ 1 - (-1)^{n} \right]$   $= \frac{1}{n^{2}} \int_{0}^{2} \frac{1}{n^{2}} \left[ 1 - (-1)^{n} \right]$   $u_{n} = \frac{1}{n^{2}} \int_{0}^{2} \frac{1}{n^{2}} \left[ 1 - (-1)^{n} \right]$   $u_{n} = \frac{1}{n^{2}} \int_{0}^{2} \frac{1}{n^{2}} \left[ 1 - (-1)^{n} \right]$   $u_{n} = \frac{1}{n^{2}} \int_{0}^{2} \frac{1}{n^{2}} \left[ 1 - (-1)^{n} \right]$   $u_{n} = \frac{1}{n^{2}} \int_{0}^{2} \frac{1}{n^{2}} \left[ 1 - (-1)^{n} \right]$   $u_{n} = \frac{1}{n^{2}} \int_{0}^{2} \frac{1}{n^{2}} \left[ 1 - (-1)^{n} \right]$   $u_{n} = \frac{1}{n^{2}} \int_{0}^{2} \frac{1}{n^{2}} \left[ 1 - (-1)^{n} \right]$   $u_{n} = \frac{1}{n^{2}} \int_{0}^{2} \frac{1}{n^{2}} \left[ 1 - (-1)^{n} \right]$   $u_{n} = \frac{1}{n^{2}} \int_{0}^{2} \frac{1}{n^{2}} \left[ 1 - (-1)^{n} \right]$   $u_{n} = \frac{1}{n^{2}} \int_{0}^{2} \frac{1}{n^{2}} \left[ 1 - (-1)^{n} \right]$   $u_{n} = \frac{1}{n^{2}} \int_{0}^{2} \frac{1}{n^{2}} \left[ 1 - (-1)^{n} \right]$   $u_{n} = \frac{1}{n^{2}} \int_{0}^{2} \frac{1}{n^{2}} \left[ 1 - (-1)^{n} \right]$   $u_{n} = \frac{1}{n^{2}} \int_{0}^{2} \frac{1}{n^{2}} \left[ 1 - (-1)^{n} \right]$   $u_{n} = \frac{1}{n^{2}} \int_{0}^{2} \frac{1}{n^{2}} \left[ 1 - (-1)^{n} \right]$   $u_{n} = \frac{1}{n^{2}} \int_{0}^{2} \frac{1}{n^{2}} \left[ 1 - (-1)^{n} \right]$   $u_{n} = \frac{1}{n^{2}} \int_{0}^{2} \frac{1}{n^{2}} \left[ 1 - (-1)^{n} \right]$   $u_{n} = \frac{1}{n^{2}} \int_{0}^{2} \frac{1}{n^{2}} \left[ 1 - (-1)^{n} \right]$   $u_{n} = \frac{1}{n^{2}} \int_{0}^{2} \frac{1}{n^{2}} \left[ 1 - (-1)^{n} \right]$   $u_{n} = \frac{1}{n^{2}} \int_{0}^{2} \frac{1}{n^{2}} \left[ 1 - (-1)^{n} \right]$   $u_{n} = \frac{1}{n^{2}} \int_{0}^{2} \frac{1}{n^{2}} \left[ 1 - (-1)^{n} \right]$   $u_{n} = \frac{1}{n^{2}} \int_{0}^{2} \frac{1}{n^{2}} \left[ 1 - (-1)^{n} \right]$   $u_{n} = \frac{1}{n^{2}} \int_{0}^{2} \frac{1}{n^{2}} \left[ 1 - (-1)^{n} \right]$   $u_{n} = \frac{1}{n^{2}} \int_{0}^{2} \frac{1}{n^{2}} \left[ 1 - (-1)^{n} \right]$   $u_{n} = \frac{1}{n^{2}} \int_{0}^{2} \frac{1}{n^{2}} \left[ 1 - (-1)^{n} \right]$   $u_{n} = \frac{1}{n^{2}} \int_{0}^{2} \frac{1}{n^{2}} \left[ 1 - (-1)^{n} \right]$   $u_{n} = \frac{1}{n^{2}} \int_{0}^{2} \frac{1}{n^{2}} \left[ 1 - (-1)^{n} \right]$ 





(An Autonomous Institution) Coimbatore-641035.

UNIT-IV FOURIER SERIES AND FOURIER TRANSFORM

FOURIER SERIES- PROBLEMS ON (0,2L)

$$= \frac{1}{2} \left[ \left( 2 - 2 \right) \left( \frac{-2}{n\pi} \cos \frac{n\pi 2}{2} \right) + \left( \frac{2^{2}}{n^{2}\pi^{2}} \operatorname{SFn} \frac{n\pi 2}{2} \right) \right]^{2}$$
$$= \frac{1}{2} \left[ + \frac{2^{2}}{n\pi} \right]$$
$$b_{D} = \frac{2}{n\pi}$$

$$\vdots \quad \begin{cases} (y_1) = \frac{4}{2} + \frac{2}{p_1} = \int_{p_1}^{p_2} \int_{p_2}^{p_2} \int_{p_2}^{p_2} \int_{p_2}^{p_2} \int_{p_1}^{p_2} \int_{p_2}^{p_2} \int_{p_$$

 $\begin{aligned} \exists \quad \text{Pind} \quad +\text{he} \quad \text{fouriser} \quad \text{Seaflee} \quad \text{for} \quad f(x) = ax - x^{2}, Cxxxii \\ & all = 2 \\ f(x) = \frac{a_{0}}{2} + \frac{s}{D-1} \begin{bmatrix} a_{0} \cos p x + b_{0} \sin p \frac{m}{2} \end{bmatrix} \\ a_{0} = \frac{1}{x^{2}} \int_{0}^{a_{1}} f(x) \, dx = \int_{0}^{a} (ax - x^{2}) \, dx \\ &= \left(a \frac{x^{2}}{2} - \frac{x^{3}}{3}\right)^{2} \\ = \left(a - \frac{a}{3}\right) - 0 \\ a_{0} = \frac{u}{3} \\ a_{1} = \frac{1}{x^{2}} \int_{0}^{a_{1}} f(x) \cos \frac{p\pi x}{x} \, dx = \int_{0}^{a} (ax - x^{2}) \cos n\pi x \, dx \\ a_{1} = \frac{1}{x^{2}} \int_{0}^{a_{1}} f(x) \cos \frac{p\pi x}{x} \, dx = \int_{0}^{a} (ax - x^{2}) \cos n\pi x \, dx \\ \int uv \, dx = uv_{1} - u^{2}v_{2} + u^{2}v_{3} - \cdots \\ u = ax - x^{2} \\ u^{2} = a \\ u^{2} = a \\ u^{2} = 0 \end{aligned}$ 





(An Autonomous Institution) Coimbatore-641035.

